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CAREER FOUNDATION

1.A man can do a piece of work in 5
days, but with the help of his son, he
can do it in 3 days. In what time can

the son do it alone?

Ueh feh fopdT BRI Y 5 f&AT o R epdl
&, CIfeheT 3701 g <l ST ¥ I8 BT
Pl 3 fT § DY T &, T I 3fchel I
T BT fopa= AT W &R AT 872

(a) 7 days (b) 8 days

1 1
(c) 75 days (d) GEdays



CAREER FOUNDATION MATH FOR ALL COMPETITIVE EXAMS \ BY.UJJAWAL SIR

2. A can complete a piece of work in 6

days while B can complete the same
work in 12 days. If they work together
and complete it, the portion of the

work done by A is:

A Teh BT Y 6 f&1 7 WeH drdT & Siafh
B 3T & Y 12 feAT o Sar 21 afe =1
AT2[ HTH PP PTH GH PYT & ol A A
fopa=T BT fohaT?

(a) 1/3 (b) 2/3

(c) 1/4 (d) 1/2
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3. Vivek, Dev and Lalit alone can do a

piece of work in 10 days and 15 days
and 20 days respectively. In how many
days can Vivek and Dev together

complete half of the same work?

forae, ST 2T AfeTe 3rdvet Uk BRF DY HHLT:
10 f&=1, 15 f&7 o 20 &7 & qRT AR Fhad

&1 farde qT 2 Rty 9T BRf BT 3ATeT
T foha f& o ORT R Wehel 52

(a) 3 &= (b) 9 f&=

(c) 6 f&=1 CERES]
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4.A =T T P16 fo 2T B 3T 8

f&T 5 URT R Web<lT & Al AT Geb ATy B
R TN PoT HOTGRT 280 WUAT H A T fEwT
feper=T 81?2

A can do a piece of work in 6 days

and B in 8 days. If they work together
then find the share of A in total wage
of Rs 280.

(@) 160 Rs (b) 180 Rs

(c) 200 Rs (d) 210 Rs
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5. A B dAT C dlg hTH hHRT: 10, 15 AT

20 f&7 o A 8, A I7eb Arer By v
P P HolGel 16,302 WUAT &1 AT T
ol TSI AT ?

A, B and C can do a piece of work in
10, 15 and 20 days. Find the share of
each in total wage of Rs 16302.

(a)7524,5016,3762 (b) 105, 5010,3762

(€)7520,1050,1620 (d) 5010,2022,2252
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6. A, B, C & ®IRIETHAT T 4T 2:3 : 4

g, T fpfy &1 7 A 3 days, B 4 days
AT C 5 days BT FH oIl & Al el
TST9RT 9500 Rs H A 1 fohe=IT wuam ure
g1 ?

(a) 1400

(b) 1500
(c) 1300
(d) 200
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7. Mohan and Ramesh together can

35 complete a work in 15 days. Mohan
is 50% more efficient than Ramesh.
Find the time taken by Mohan.

& 3R QT FTdhR Ueh BT bl 15 &AL
o ORT &Y bl gl JIE, WA A 50%

3T P Bl el [T FIRT PRI P
QRT & o foram Tam a=r <1 |

(a) 20 f&= (b) 22.5 f&=1

(c) 32 f&T1 (d) 25 f&=1
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8. A Uh BT I 18 f&-T A B WhdT 2l A
3R B Ueh W12l BT DR §Y W1 P bl 8
f&=T § B |dhd €, S9fd B 3R C U
§AT2f BT DR gY ST D bl 6 fmT A
QRT R Ahd &l A, B 3R C Ueh AT HRY
PR BY I B Y foha f&=T 5 e
hd 82

1 4
(a) 3Efé=r (b) 3 fo=

3 1
(c) 4, famr (d) 47 fa=
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9.A TAT C T Ueh df & 120 feT H

QRT &R Wehd &, C TAT E FreTas 91
PRI BT 80 f&T H YT R AT &1 A TATE
firereps =T 1 Y 160 faT 7 gRT &R
AP &l A, C TAT E Fretas 9919 &1 I
fepaT o # qRT &R Ahel 27

(a) 960 /13 f&=

(b) 120/ 13 f&=
(c) 480/13 f&=1
(d) 240/13 f&=
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10. A fRY &1 BT 24 & & TAT B 9 BT

T 32 f&T o URT HR WehelT & A TAT B AT
PTH R PR & AP DI THH B 3 4
fa7 gger A 71 1 BYS f&gT A uRT B B
Y ol focHT AHT TFIT? o2

A and B can do a work in 24 and 32
days respectively. They started working
together but A left the work 4 days
before completion of work, find the total

time for work being completely done.

(@) 16 Days (b) 20 Days
(c) 17 Days (d) 21 Days



